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axpzchad returne differ i=: : =
&. WVariance, b
L. JET=1 ufx - B | -'-":.
e, The market pertfolio. |:?.
2. The rigk=fres investment. ﬁl
o . 1
T—Er . In rtheaory, the capital asschk pricing madel requires that ehe e
arkek porblfolic include: e

a, Cormon stns:khp

L. Bonds.

o, Thenl cstake,

. Human capilLal.

e, &ll of the above.

3’, The expected return ocn the market portfolico Is 20%, and the
rizk-free rate of relurn is 8%. An mvﬁsL.mEnL has & beta of 1.4
and offers an e:l-:pacted rerurn of 23%,

a,.- Th:la ‘imtvargood investment hecause it earns more than the
market rateTof’ ‘return.

L, This investment Las a negative net present value.

c. This investment has a positive-net present wvalue.

d. Heed nore iﬂfﬂﬂﬂatlﬂﬂ to deciﬂ.-: if this :L'= a gaond ar had
investment.

A tne
Th: expackad retuyn on Lthae markat 1 c-rL:i.'c-Jm ig 1%, an
risk-{res Ete of robumm Is 5%. An investmenk has a bale aof 1.8

a1l -::l‘r:F-E'-:LS an mmpecked return of 26%.
a. This iz a good investmont hocausa 1k earns

D& lrelr rabe ol reburn.

more then Bl

h. This investment hac a negalive net presenk e lue,

o This investment has & posilbive pet present walue,

o - '] 1 - - . - l| -
4. MNeed more fnfermation to decide if this is a yoad ov pad

1mwas Lpnent.

}'EI' hrbitrage pricing theory irplies that khere are higher risk
premiuns 90 stocks with returns that are especially sensitive fo:
a, Cnanges in leag-term interesk rates.

. "henges 1n short-term inberest rabtes.
. The market portfolio.
. D1l praice changes.

= HNone of the abowve.
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[51Let £ X, ¥ be oheerved and we know that Y=a+ilk+s, i=12,,-n, ER
where x,x, .. x are known constants and €&y, &, are independent random L3
variables sach with N{ﬂ.a—‘}. Find the MLE of &, f and o. ;f:
':.!_-:
[15% ) B
¢
[©] Let the observed sample x,x,,---.x be taken from J"."i;u_,f,e:r_f.} and the sample !

¥y ¥, fiom a'"r"{u}.,af}. (viven the data :

> x, =845,
T

Jer = 28678, and m=19, 3y, =0IE, ZT": =29231. Test

ﬂ'
ﬂ_— =1 against a two sided alternative with significance level (.02

:
(b)Y A, ay = g against |-, >, with significance level 0.01.

fa) H,

Note :

(1) £, (24,28) =252, F,,(2824)= 261, where a=P[F:=F_(mn)].
{2) z,,, = 2326 where a—1-®fr_|

(15% )
[ 7] et the observations for & and ¥ are the tollowing table :

X

¥

Y

1}

13

15

16

44

(&) Find the sample regression lineof ¥ an X

48

63

I

13

. %

i b} Find the unbiased estimale of the variance.

45
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i# Whick of Lhe [wlluwing feabtures increasei(s] the value of a 1ﬁ'l|
0 call oplicn? i
A, & high interost rabe, ' #l
., A long time to maturity, |
=. A highly wariable atock price. W
s | Al ol Lhe abowe. ' £
L

2., Relatiwve co the underlying stuck, a call opLion always has:
a. &N higher beta and a higher standard deviation of rebturn.
2. A lower beta and a higher standard deviation of retuzn.
=. A higher meta and a lower standard deviation of return.
d. M lower Dela and a lower standard deviation of return.

<. The option delta is calculated as the ratic of;
a. The spread-of possible share prices to the spread of
passible ontion prices.
b, The share price to Lhe opbion price.
. @, The spresad of pussible optlon prices Lo Lhe hpread ok
possible share prices,
. The oprion price te the share pr1re
. None of the above.

;44 WFor - Buropean cptions, the value of 2 call minus the value of
a‘puria equal ro:
f~ +* .a. The present walue of the exercise price minus the value
ek ‘a ' share.
e tB e The present wvalue of the exercise price plus the value
S El .=1 share., i
<. 'I'_llf: value ol a ghare plus the present value of Ehe
exercise price,
d. The wvalue af a share minus che present valuL uf the
exercise price.

S Suppose so invester buya one share eof atoacl ard a pub option
- on the stock and simelrancemiely a=lles a4 call opbion an bthe sboolk
wiblh Lhe same exercise price, What will be the value of his

inveskment on the final exercise dace?
a. AMhove the oxerciso ]':r1r'-:= if the r'1""n"'l-.r price rises and

bE ow Lhe exercise wrice if it falls,
b, Eyual Lu Lhe exerciee pricve regardless ol bthe stock

price,

o, Equal ko zero regardless of the stock price,

o Below the sxercise price 1f the stock price rises and
abmvP if it falls.
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